Aplicatia 1

Sa se determine reactiunile interioare si exterioare pentru cadrul din figura.

n=1...6
30N
" l 10 N/m
E B
o
20 N/m
§ 35 Nm
X

A.5m, 3.5m L 35m J.5m,
il 7 7 kl il
n=7..12
30N
10 N/m l Sy
E B
o 1S
o 20 N/m <
£ %
o 35Nm E
o)
N
YR y. N
A.5m, 35m 35m 1.5m,
7 il 7 i il
n=13...18
£ Q B .
e 30N
10N 150: &
£
o 1S
Te)
N
SN A AC N

35m

L

2.5 m

y15 mp
7 7

-~

n=19...24
/5o »30N
BA
e 1
S 10 N/m €
20 N/m <
€ E
o | 35m 35Nm g
™ 0
N
b Lo
*1 5 m* 3.5m P 3.5m P 1.5m
n=25...30
50 30N
B
e f
N 20 N/m <
€ —C
o 35NmE
@ 0
N
YA T
J1.5m, 35m L 35m 1.5m,
7 i 7 7 7
n=31...36
1
N il
£ Q B
N 30N
(\iv 10 N/m §7
€
o
)
s A N

3.5m L 3.0m 4&1 5 m{\,

b15 m,
7 71

L

2.5m

2.5m




